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7 |ifaperson walks at 14 km/he instead of 10 76 \UIC v zavwe 10 Tl e & wora i A A ] 2 )
f km/hr, he would have walked 20 km more. The A& awN B, o AF 20 Pt s worar 31 suks v
actual distance travelled by him is EART @A 6y v arrataw 20 ¢ Y
A S0KM C 56 KM A 50 KM ¢ 56 KM
oM L 80 kM B, 70KM | D B0 KM
ahendra distributed his savings of Rs. 1,62,000 77 etz 3 5w @@ 1.62.000 578 30 T, 3 @A
among his wife, 3 sons and a daughter in such a uF AN % W1 g0 mw g A ok and w5t zrky ah
way that his wife gets double of what his i é"I’“ firerar & sl 3hy 34 1 20w 27 A 7 ww B
daughter gets and his daughter gets double of firerd @ @ e fiern By 30k 34 51 G Gram
what each of his sons get. How much will his )
daughter get?
A.  Rs.18000/ C. Rs.72000/- A % 18000/ C = 72000/
Rs. 36000/- D.  Rs. 27000/- B.  %.36000/- D 3, 27000/-
) 78 |There are two candidates in an election, A 78 U FaTa A 21 37A12aN ¢ | U IFATEAN 1
candidate gets 71% of the votes and wins the 71% e Aad g i ag 756 At & g ha
election by 756 votes. What is the total number ST €1 Bl aret & wear Far 37
of votes ?
A 1890 (6 1860 A. 1890 G 1860
1800 D. 1850 B. 1800 D. 1850
wo cycles are sold at the same price. Of these, | 79 |a! &rstaet o 21 S04 97 241 30 B g0 & qeeht
the first cycle is sold at 20 % profit and second wHIshRe 20% SV Gt qd1 gud ansfee 20% @i @ A
cycle at 20 % loss. If there is a total loss of Rs, 18/- it 21 2R F@ 2 18/- 5. @ B, A T FA uew
, then their cost price will be respectively :- . BT -
Rs. 180, Rs. 270 C. Rs. 180, Rs. 240 A Rs. 180,Rs. 270 C. Rs. 180, Rs. 240
Rs. 200,Rs. 240 D. Rs, 200, Rs. 270 1B. Rs. 200, Rs. 240 D. Rs. 200, Rs. 270
80 |The average age of a man and his wife who got 80 |7 = uga U g5 3N 3w gl S e
married 7 years ago was 25 years. Now, the 25 3 4 319 9fd, o= 3 TF v ==y £ e sy
average age of husband, wife and one of their 23 @ ¥} 7= FY FAwa Hw @q1 22
children is 23 years. What is the present age of
C. 7 A 3 C. 7
D. 9 B. 5 D. 9
In the given series, some of the letters are missing 81 |4 n§ sien W Fw Waw an &, =1 S P o et &
which are given in that order as one of the options i UF F w9 i ;;ﬂ w9 i EQ ¥ wé fEsg ?'
below it. Chose the correct option. aibarbib s b =
a_ba_b_b_a_b ask abbokd i ey
A.  abaab C.  aabba A.  abaab C.  aabba f
B.  abbab D~ bbabb B.  abbab D.  bbabb
A person wants to reach his destination whichis | 82 |u# =4t 90 ferell A T Tideg 7 3 9e ;WW T
90 km away in 3 hours. He covers the first half R a® TEel sy {ﬁ 20 fftfaa 1 nfa aﬁwt
distance at a speed of 20 km/hr. What will be his W A6 ¥ fou I afvea o @ 2
average speed for the reamining journey ?
40 Km/hr (o 60 km/hr A, 40Km/hr C. 60 km/hr
D. 70 km/hr B. S50Km/hr D. 70 km/hr
ify the worng number in the series : 83 |opaen B e wem e
69, 55, 26,13, 5 69, 55, 26,13, 5
M55 s
O -
[0 N g0
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A 5 C- 26 A 5
5. 13 0,55 B 13 D55 -

34 |Election : Manifesto : : Meeting : ? 84 |TATT : WO : a5F 72 —_—
A.  Circular C.  Preface A {Tcg?ﬂ C —
B Agenda D. Report B aamq\aﬁ D frars

_ f In the given pair of words, except one, bears a 85 F‘c!t’ T ee2T & o2 A, U H) m .F_;. —_—
common relationship. Choose the pair in which words WU &l a8 Arar ?4;?7 fIGH e FA-3el91 5
are differently related. gafadg ﬁl
A Newspaper : V Stamps : Philatelist A,  N@ER :{UEHF C. e - o

Editor

B. Film : Director D. Book : Author B. fher :fASUF D, 3?—?37 SICED

36 |Two nositions of a dice are shown. Which number will | 86 | 9 @ ar Reyfaar Te@rs aT% | 5drdl & [a9ila
appear on the face opposite the one having 2.7 Eod U3 Al A &1 ﬁ'&ﬂ? &

e 2
ey B
i 4 (i) (ii)

e ( )~ 1 C. o 4 A. 1 C. 4

B. 2 D. 6 B. 2

D.
87 |Pointing to a gentlemen, Ashish said, "His only 87 |us gss 71 A 39T FAd wu ey 3 F@, I
brother is the father of my daughter's father." How is epeitar WS B 391 F frar v far 2" a7 wwss s
the gentleman related to Ashish ? <
- & gy wEfim 27
A.  Grandfather (3 Brother-in-law A. (Al C. AT
B.  Father D~ Uncle B. far D. =T
88 |Kanha : Periyar : Dachigam 88 TR ﬂﬁ'ﬂf{ . m
A.  These are C. 7 These are animal A I yfag érB AT 2
. 5 11 g &
famous lagoons '/sanc!uaries & c a 3 3
5 JB. These are hill D. These are mountain Js 3 Terd O B : S S -
I B fons peaks ) F 2 S &IT & D. PR EGREREINS
83 A man is facing towards west and turns thr — 5l
BeBSk cockwice, agalnaho degs clockw::u:: ":s 89 |0 smwedl afém $ 3K g FF @er & 30 45 (20 i
\ o turns through 270 degree anti-clockwise, I [P e ¥y f 1s0 Rt zfimad e # 3t
| N which direction is he facing now ? 270 ferft ammad HHAT R 39 32 fFg B f 5w 0 1
el e FE @I B2
v A West C<outh
S B.  Nonh A aftas C afam
= - west y&)\l"’l - west >
\ In the given figure, how ~ IB. 3 9fvan D.  zfyy - ufi
tennis both? many people like cricket ang 90 ]
| : "] 20 [ s 5, P e e o 3 9 e 7 ¢
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9% Srfat 4, aw awer
C 3% D & &y # fufga fr mar
F1, 2,3, 435
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